
Solutions to a System of Equations by Graphing Name:

Graph these equations. Click to select points on the graph. Switch
between the equations by selecting them in legend. Which describes

the system of equations?

-10 -8 -6 -4 -2 2 4 6 8 10

-10
-8
-6
-4
-2

2
4
6
8

10

Show your work

Graph these equations. Click to select points on the graph. Switch
between the equations by selecting them in legend. Which describes

the system of equations?

-10 -8 -6 -4 -2 2 4 6 8 10

-10
-8
-6
-4
-2

2
4
6
8

10

Show your work

Graph these equations. Click to select points on the graph. Switch
between the equations by selecting them in legend. Which describes

the system of equations?

-10 -8 -6 -4 -2 2 4 6 8 10

-10
-8
-6
-4
-2

2
4
6
8

10

Show your work

CC.8.99 Page 1 of 4

TeachMe, Inc. ©2025 All rights reserved.

y=−1x+9

3y=−3x+27

infinitely many solutions no solution one solution

y=− x+9
7

9

3y=−2 x+27
1

3

infinitely many solutions no solution one solution

y=2x−3

y=− x+6
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4

no solution infinitely many solutions one solution
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Graph these equations. Click to select points on the graph. Switch
between the equations by selecting them in legend. Which describes

the system of equations?

-10 -8 -6 -4 -2 2 4 6 8 10

-10
-8
-6
-4
-2

2
4
6
8

10

Show your work

Graph these equations. Click to select points on the graph. Switch
between the equations by selecting them in legend. Which describes

the system of equations?

-10 -8 -6 -4 -2 2 4 6 8 10

-10
-8
-6
-4
-2

2
4
6
8

10

Show your work

Graph these equations. Click to select points on the graph. Switch
between the equations by selecting them in legend. Which describes

the system of equations?

-10 -8 -6 -4 -2 2 4 6 8 10

-10
-8
-6
-4
-2

2
4
6
8

10

Show your work

CC.8.99 Page 2 of 4

TeachMe, Inc. ©2025 All rights reserved.

y=−2x−8

y=3 x+8
1

3

one solution no solution infinitely many solutions

y=− x+6
1

6

y=−1 x−4
5

6

one solution no solution infinitely many solutions

y=−2x−4

2y=−4x−8

one solution no solution infinitely many solutions
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Solutions to a System of Equations by Graphing Name:

Graph these equations. Click to select points on the graph. Switch
between the equations by selecting them in legend. Which describes

the system of equations?
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between the equations by selecting them in legend. Which describes
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y= x−3
2

3

y= x−9
2

3

one solution no solution infinitely many solutions

y=−7x+7

3y=−21x+21

one solution no solution infinitely many solutions

y=− x+9
3

7

2y=− x+18
6

7

infinitely many solutions no solution one solution
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Solutions to a System of Equations by Graphing Name:

Graph these equations. Click to select points on the graph. Switch
between the equations by selecting them in legend. Which describes

the system of equations?
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Graph these equations. Click to select points on the graph. Switch
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y=−5 x−8
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y=−5 x−6
1
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infinitely many solutions no solution one solution

y=1 x−9
1

2

y=− x+8
5

8

one solution no solution infinitely many solutions

y=−1 x−3
2

7

3y=−3 x−9
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7

one solution infinitely many solutions no solution
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Solutions to a System of Equations by Graphing Answer Key

Question Answer

#1 choice 1

#2 choice 1

#3 choice 3

#4 choice 1

#5 choice 1

#6 choice 3

#7 choice 2

#8 choice 3

#9 choice 1

#10 choice 2

#11 choice 1

#12 choice 2
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